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QUESTION 1

Which two statements are true regarding Recommendations in an Alert Definition? (Choose two.)
A. Alert Definitions can have one or more Recommendations.

B. Recommendations are only required when defining an Alert Definition.

C. Recommendations and Actions are required when defining an Alert Definition.

D. Hyperlinks can be added to Recommendations to link to a knowledge base article.

E. Actions can be added without the use of Recommendations.

Correct Answer: BC

QUESTION 2

Which process can help reduce resource over-allocation in the environment? (Choose the best answer.)

A. Investigating and acting upon the “Virtual Machine quest file systems are running out of disk space\\' alerts
B. Investigating and acting upon the vSphere Hardening alerts

C. Running the Network Traffic by VM report and taking action based on this data

D. Running the Oversized VM report and taking action based on this data

Correct Answer: D

QUESTION 3

What would an administrator use to manage and view the capacity analytics across data centers and clusters spanning
multiple vCenters with vRealize Operations (VROps)?

A. Custom data centers

B. Application groups

C. Custom groups

D. This cannot be done within vROps
Correct Answer: A

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-62/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-BOB1FOE5-F150-4BBE-A41F-D3AD15575EB4.html

QUESTION 4
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Which three methods can be used to add users to vRealize Operations? (Choose three.)
A. Through the integration with vSphere.

B. The vRealize Operations API.

C. Add user dialog in Access Control.

D. The import users dialog in Access Control.

E. The import from VMware Identity Manager dialog in authentication sources.

Correct Answer: CDE

QUESTION 5

Which statement is true about sharing dashboards created by another user?

A. A dashboard created by someone else can only be shared by the user who created it.

B. Dashboards created by someone else can only be shared by users in the same user group.

C. Dashboards created by someone else can be shared by logging in via the vRealize Operations Administrative URL

D. Dashboards created by someone else can be shared only by users with full administrative privileges in vRealize
Operations.

Correct Answer: B

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-B2E85B22-C3BA-4671-B311-6899F490EAAG.html

QUESTION 6
For which two of the listed scenarios can vRealize Operations custom dashboards be created? (Choose two.)

A. Displaying end user experience information related to a custom group B. Displaying capacity information for a fixed
set of objects

C. Displaying health and performance metrics for a specific object selected from a filtered list of object types
D. Displaying configuration files for a specific object from a list of all objects in the system

Correct Answer: BC

QUESTION 7

Which two content types can be added to a report template? (Choose two.)
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A. Dashboard

B. Chart

C. Trendline

D. View

E. Badge

Correct Answer: AD

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/6.6/com.vmware.vcom.core.doc/
GUID-43755311-B4A6-49AB-BEC9-AF100B625289.html

QUESTION 8

What is the network latency needed between an Endpoint Operations Management agent and vRealize Operations
Manager nodes or remote collectors?

A

B.

Correct Answer: B

Reference: https://kb.vmware.com/s/article/54370

QUESTION 9

The power user role provides which three privileges? (Choose three.)

A. Alerts management

B. Cluster management

C. User management

D. Solutions management

E. Dashboard management

Correct Answer: ADE

Users have privileges to perform the actions of the Administrator role except for privileges to user management and
cluster management. vRealize Operations Manager maps vCenter Server users to this role. Reference:

https://docs.vmware.com/en/vRealize-Operations-Manager/6.6/
com.vmware.vcom.core.doc/GUID-9F316466-FACA-4DAO-8F3E-51BC73793990.html
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QUESTION 10

Which two badges are Risk sub-badges? (Choose two.)
A. The Fault badge

B. The Capacity Remaining badge

C. The Anomaly badge

D. The stress badge

E. The Workload badge

Correct Answer: BD

Reference http://vmwaredevotee.com/2012/11/27/badges-in-vcenter-operations-manager/

QUESTION 11

Which two networking requirements are true about the node types in a vRealized Operations (vVROps) cluster? (Choose
two.)

A. Analytics cluster nodes must be on separate VLANSs as long as they are in the same cluster

B. All node types including remote collectors must be bi-directionally routable by IP address or FQDN
C. All vROps cluster node types must be configured with dynamic IP addresses

D. An underscore must NOT be included in the hostname of any cluster node

Correct Answer: BD

Reference https://docs.vmware.com/en/vRealize-Operations-Manager/6.5/vrealize-operations-manager65-linux-install-
guide.pdf (p.20)

QUESTION 12

Which four node types make up the vRealize Operations Manager analytics cluster? (Choose four.)
A. Data Node

B. Remote Collector Node

C. Replica Node

D. LI Worker Node

E. LI Master Node

F. VRBC Data Collector Node
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G. Master Node
Correct Answer: ABCG

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-35DC1E13-8CCC-42FE-90A8-73A417DEE625.html

QUESTION 13
An administrator receives an alert that a vRealize Operations (VROps) cluster is running out of disk space.
Which two courses of action can the administrator take? (Choose two.)

A. Increase the size of the existing virtual disk in each analytics node by exactly the same amount to increase the
overall vVROps cluster disk capacity.

B. Add an additional vROps data node, selecting the large t-shirt size.

C. Deploy an additional vROps data node making sure CPU, memory and disk sizes are identical to the other analytical
nodes.

D. Add an additional virtual disk to each analytics node after shutting down the vROps cluster and shutting down the
nodes in the cluster.

Correct Answer: AC

QUESTION 14

A user is attempting to troubleshoot a cluster the predefined dashboards.

Which dashboard provides information about the virtual machines that generated the highest IOPS and
network throughput during the last week for a given cluster? (Choose the best answer.)

A. VM Usage dashboard

B. VM Configuration dashboard

C. Heavy Hitter VMs dashboard

D. Troubleshoot a VM dashboard

Correct Answer: C

Reference https://docs.vmware.com/en/vRealize-Operations-Manager/6.4/com.vmware.vcom.core.doc/
GUID-76324E51-606A-4D13-A84D-0517F34823AA.html

QUESTION 15

What are two reasons to use a Remote Collector? (Choose two.)
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A. To extend the vRealize Operations Manager cluster once the maximum allowed number of data nodes have run out.
B. To navigate firewalls.

C. To connect two separate vRealize Operations Manager clusters together.

D. To connect to and collect from remote data sources.

Correct Answer: AB

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-263F9219-E801-4383-8A59-E84F3D01ED6B.html
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